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6th Grade

Quiz 8.1-8.7 Study Guide
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Circumference and Area of a Circle: Find the exact and approximate circumference and area of

each circle.
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Square Roots: Estimate each square root to the nearest integer. (Do not use a calculator for

this)

4. 201 5.@26

A 4,}201 N\ zzs

6. VI00 7 VT96 = 1T
2o =20
8.4/169 — 13 9. V52

W <15 LAEA

Rational and Irrational Numbers Identify each number as rational or irrational
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15. How are irrational numbers different from rational numbers?
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Pythagorean Theorem: Find the missing side length. You may use a calculator for these SHOW
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